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1. Thf'. relation

on & set A-{l,:e, :3-} ia

fa} reflexive, transitive but not
syrmetric

transitive

]

fe}  symmetric, tra.nsltrw: but m:rl:
reflexive

fd) reflexive but neither symmetric
nor transitive

2. If
1 -3 2
2 -8 5
= 4 2 A

is not an invertible matrix, then
what is the value of L?

fal -1
(1= ]
e 1
fd} 2
3. What is the number of words that
can be formed from the letters of

the word UNIVERSAL’, the vowels
remaining always together?

o) 720
(bl 1440
e 17280

fd) 21540

P-PFC-K~-OC f26A

fb) reflexive, symmetric but not ..

4. The arithmetic mean of two nu mbers
" exceeds their geometric mean b:,- 2
and tl'l.v::J genmetm: mean exceeds
their harmonic mean by 1-6. What
are the two numbers?
fa) 16, 4

(b 81,9
) 256, 16 g

{d) 625, 25 ' ot

5. What is the conjugate 0F(1+2:J

2+

: 7 24
faj E-HE
7 24
® ~25 3
T -
e 4 —
@ -gg*iz ;
al
7 .24
@ 5535

* &.. If the equations x% +.kx + 64 = 0 and

= 8x + k = 0 have real roots, then
what is the value of k2

faj =
(b 8

fe) 12

g} 16




L w=Fa R={11, (22, 33, (L2
(23, LIy =T A=(LS 5T

(o) wgea 3 HEww § we wwiE
T B

) g s TR b Tog wEE
TR

fcf wmfm it H@wms ¥ s wEE
Rk

(d) w=gea ® w A anfim # ol g
T B :

1 -3 2
2 -8 5
4 2 X

o gl ey T R, A A A
w87

2, of

@ -1
() 0
) 1
@ 2

3. %0 W W @ weEY e g,
UNIVERSAL' ¥ & =gl § &= =
T A T Ao o A

fa) 720
fb}
fel

{d)

1440
17280
21340
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4. 3 TEns = gawn W 39 U T
# 2 T B, T T T RO
A § 16 T B 26 send =0 17

fa] 16, 4
B 81,9
fe) 256, 16

(d) 625, 25

D4

s. |

Rk
25

, 24

+ie—
25

fa)
&)
el

fd}

6. 3f TEmEl  xf skx+B4=0 ¥R
x* =B+ k = 0 U7 aEia® €, @ k
w1 WH # BT

fal 4
fbj 8
fc} 12

fcd) 16

| P. T. 0.




R ]
7. What is ["‘%{ﬂ equal to?
fal -1
b ©
fcl 1
fd) 2
ir

A= o} 2ofo Sfe-[3 7]

- then which one of the bllowing is

not correct?
(a} A% =B
m) B2 =c?
fe) .-1;3= i

fdl AB=EBA

9. If logslloga[logs xl]=logy 3, then

what iz the value of x?
faj 3

fby 27

() 3°

I,dljl 327

P-PFC-K-0OC/25A

10, lfwis a complex cube root of unity,
then what is @'% + 079 equal to?

fal 2
fb) -1
fe) =2

fd 1

11. I the roots of the equation
2% +B%)x2 ~obn s e)e+ % +e?) =0

are equal, then which one of the
following 5 correct?

fa} 2b=g+e
B B%=ae
fe} b+e=2a

e} b=aqac

12. What is the maximum number of
straight lines that can be drawn
with any four points in a plane such

" that each line contains at least two
of these points?

{ap 2
L) 4
e 6

fd 12




; 'r:.(ﬁ“]ﬁﬁaﬂi%amﬁa?' 10, AR o TH W wEH wE b,

- :.:1°+m-'”ﬁmﬂ%mt?
@ -1 @ 2
B O B -1
“ a fet -2
fdj 1
_— fel) -
& 11. ¥ wiEm
B.
fa? + b%x? —2bla + e+ (b2 +c) =0
o 01 Bu i 0 zo 0 =i
-1 0f 0 -if - 0 ¥ @ wen #, @ Fefefes 3@
b ’ - T -w e :
it Frafafim 4 4 #h-m o ol ot 87 I
) fa) 2b=a+e
fa} z‘i:":.Hg
) b* =ac
i) B =c*
: fe} b+c=2a
fe} AB=C
fd) b=ac
(di AB= BA

12, s wams § Feadl s fargait % wma wiEh
AR areh-w Yl # s S

9. Tft log,llogsllogs | = logs 3, a"l.xa:: wm b o sAm Yed e oA

0 -7 A g, S 47
@ 3 @ 2 :
(b) 27 ‘B 4

G- L fc) 6

() a2 . P : S TRET" "

P-PFC-K-OC/28A 5 (P.T. O.




13. if

B -3 1
x+iy=|4 3 -1
20 3 i

then what is x =iy equal to?

fa) 3+i
b 1+3i
fef 3
{d o
14. If |A| = 8, where A is a square matrix
of order 3, then what is |adj A|equal
to?
fa) 16
B 24

fc) 64 N

id) 512

15. What is the binary' number
equivalent of the decimal number
32-257

fz} 10001010
{b) 10000010
fc) 10001001

{d) 10000001

P-FFC-K-OC/25A

16. If A and Bare two disjoint sets, then

which one of the following is
correct?

fal A-B=A-{AnRE)

(b) B-A'=BnA

e} AnB={A-B)~E

{dj All of the above

17. Consider the following statements in

-respect of a square matrix A and
its transpose AT :

I. A+AT is always symmetric.
2. A-AT s always  anti-

symmetric,

Which of the statements given
above isfare correct?

fal 1 only

(b 2 only

{c} Both 1 and 2

(d} MNeither 1 nor 2




13. wf 16, AR A ¥ B @ wwegw wy=a oW, a

'EE Freaferfim A @ #7015 ¥ B
x+iy=|4 3 -1
|20 3 i

fa] A-B=A-{AnrB)
A x - iy T T R
fb) B-A'=BnA

fal 3+t
B Ll+3 fog AnB=[A-B)nB
e 3i
() Tegw wht
fd) 0 -

14, 3ft |Aj=8, sl 4 FR 3 = w =

, Tl i ? i
R 8, 7 ladj Al o & 17. % 91 s=gg A o au% ofigd AT &

(@) 16 vl Preffios st m fam Hifim
b} 24 | 1. A+AT gim wifim 1
fe) 64
2. A-AT whm viveafim )
{d} 512
IE weAl | R wE-a R wd R
15, TWEE WEN 3225 & g9 R-amord @ Ta—
T = By
faj 10001010 (b FEA 2
(b} 100000-10
{1 R 2 EE
fet 10001001
{d} 100000-01 " a fd) A1 ARAH2

P-PFC-K-QC/25A T [ P.T. O.




18. If ¢ and § are the roots of the
equation x? =2x+4 = 0, then what
is the value of a? +p3 2

fal 16
b -16
fc) 8

dj -&

19. What is the value of [-1+iv3)%?
fa) 1
(b} 2
fc) ' 224

rd) 243

20. If a matrix A is such that
347 424 #8544+ 1=0

then what iz A™! equal to?

fa) —(342 +24+5)

b 347 +24+5]
fci 2A® -24-5]

fdj -(34% +24+ 5I)

P-PFC-E-OC/[25A

21. What is the sum of all the
coefficients in the expansion of

[+ x)"2

@ 2"

(B 2" -1 :
fef 2m-?

e} 2n-17

22, Let N denote the set of natural
numbers and A={n?:ne N} and

B={n":ne N} Which one of the
following is correct?

fal AuB=N

{8) The complement of (4w B] is
an infinite set

{8 An B must be a finite set

{d] A~ B must be a proper subset
of (m®:me N}

23. Which of the following are the
two  roots  of the eguation
{e? + 22 + 8x? = 6x(x? + 27
fa) 1%i
b 2%i
fel 1142

d] 2%i/2




18, 1 o ¥ p wfwm 22 -2x44=0%
“wE E, e +pd W R

faj 16
fb) -16
fep. 8

i) -8

19. (-1+i/3)"8 T WA 7 B7
fa) 1
) 2
fcg 2%*

fdj. 243

20. 4% wm aAmE A4 ww. ¥
34% 4242 £ 544 1=0, T A7? fER
& = b '
fa) (342 +24+5)
fB) 3A% +24+5]

fe} 3A% -24-5I

fdf -{34% +24+ 51

P-FFC-K-OC/25A

21. (1+x)" & WR # wft i w@ Do

44

) 2"
B 2" -1
fc} gn-d

) 2in-1)

22, mm wifg B N mElE denad.w
ugEm W@ oG wa Rl oam

iy e -ri:{nz:nEH'i Gl
B=in?:ne Ny Fmfafm A @
- W T

fal AuB=N
(b} (AU B)F TF TF A v B
fef A B¥EE & or ofim agem

(] A~nB A ® m® . me N} T
TF IR e 8

23, Tl # 4 F3-8, whwe

2 +22 +8x2 = 6x(x? +2)

% 2 e §7

faj 1ti
by 2xi
fel 1243
fdj 2+iJ2

[P.T.O.




24. What is the coefficient of x* in the 27. Let A and B be matrices of order
) : 1—% 2? ' Ax3 If AB=0, then which of the
D ki [1 +x) following can be concluded?

fa}l A=0and B=0

fal =16 .
b} 16 fo} |Al=0and |B|=0

{c) Either |A]=D0or |B|=0
fe] B

fd} Either A=0or B=0
{d -8

28, The sum of an infinite geometric
progression is 6, If the sum of the

25. If « and P arc the roots of the first two terms is 9/2, then what is

equation x? +x 1= 0, then which the first term?
of the following are the roots of the
Equaﬂmxz-x+]=l:l? fa) 1
fa) a7 and pt? 2 iz

fe} 3 or 372
B '3 and p7

fd) Sor3

fe) o 20 and a"."ﬂ
- 29, If Ais a square matrix, then what is
fd| MNone of the above adj A" -fadj 4)" equal to?

fa} 214|
26. A square i3 drawn by joining mid-
points of the sides of a square. bi Z|A|
Another square is drawn inside
the seccond sguare in the same .
way a.r!.d the process is continued fd) Unit matrix
indefinitely. If the side of the first

sguare is 16 cm, then what is the . : .
sum of the areas of all the squares? 20. Which one of the following is correct?

fg}  Null matrix

fa] 256 sq. cm faj sinl®>sinl

b 512 {b) sinl® <sinl
84. em

sinl’ =sinl
fe} 1024 sq. cm §

d) sinl*= ——sinl
{d] 512/3 sq. cm T

P-PFC-K-OC/25A : 10




24, [I”) Fwem d xt sﬁavmﬂsmi?

fa} -16
k) 16
) 8

{d)

25 ARodRpEliFm c? s xv1=0F @
d, @ Bofafim § 8 *R=-3, E‘n"l‘-ﬂﬂr
. x%—x+l=0wYA T

fa) a? mﬁlﬁ
) a'd 3mp?
fel u'ﬁﬂ' m'“ﬂﬂﬂ

(d) I¥F 3 F Al

26. TF @i # qFait & ma-fegad W femw
Eﬁﬁﬂ%hﬁmhm
T W & i s =l e
frm w3 o wiEm wfiim =@
" WAl et et 1w el = f A e
16 Ao He ¥, 7 wft @ & dawat =
A 7

fa) 256 @ He Mo
{b) 512 a1 He He
fe) 1024 =90 He wts
fd] 51273 =i T Hie

P-PFC-K-OC/25A
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27, ur 7 A ¥l B FIR 3.3 & sy
# R AB=o, @ FrafaiEn 3 =
wr-m e fen = w27

fa) A=03 B=0
{b) |Al= 03T |B|=0
fe) A |A|l=0T |B[=0

fd) MA@ A=0M B=0

28, T A O A g 6 Ry o wew
B w5t A w:%,?itmwami?

fap 1
) 542
fe} 34 32

@} 9@ 3

20, 72 A wE T w=E B @
adj AT - fadj A) T & s 7
fal Z|Al
®) 20l
fe) 3 H=E
@) v e

30. Prerfefias # & #v-m % wh 27
ja) sinl® =ainl o
(b} sial® <sinl

ol sinl® =sinl

fd) sinl*= ——sinl
180

[B.T.O.




31, One of the angles of & triangle is
1/2 radian and the other is 9%,
What is the third angle in radian
measure?

9n ~ 10
n

fof

90n - 100

e} Vi

90n - 10
b1

fc)
fd] None of the abave ,

32. Two poles are 10 m and 20 m high.
The line joining their tops malkes an
.angle of 15" with the horizontal,
What is the approximate distance
between the poles?

fa] 353 m
{b) 373 m
fe] 41 m
{d) 44 m

33. What is the value of

g s 2tan~' = ?
3 3

ain

%
fﬂJE

)

LY

fel

sl

fe}

A E]

P-PFC-K-OC/25A

12

34. What is

secI8° 5 cosec 18°
secl44® cosccldé4®

equal to?
(o) szecls®
(b} cosecl®®
fc) =seci
{d} -cosecls
35. If ¢ and P} are positive angles such
that o +f = 45. then what is
{1+ tana)(l + t.e.m|3}
equal to?
faj O
B 1
fe) 2
fd 3

36. What i= the value of
[sin S0P~ sin 70 + sin 10°) 7

d o




31. o g & Wil 3 8 we w172 e
w1 % s qEo 99 & ¥ e W A
e Fm feen 87

Or =10
=

fa)

90n - 100

(b} .

Gl - 10
mn

fd) I & A =4 Tl

{cl

az. @ =nt 10 e afk 20 He 31 ¥ FE
Fiat = fem Tt tan fERe 8 150w
T g &) weit & s T e

0
fap 353 ffe
(b} 37-3 e
fc) 417%lo
fd} 44 dte

a3. gin™! % +2'!an“1%‘ﬂﬂ ﬂﬁﬁ-‘u‘ﬂ‘%?

faj

wis

(b

fel

- | A

(d)

EIE

P-PFC-K=0Cf25A

13

34. e 18° + cosec 18 rﬁ;"' * ]
secl44® cosecld4s®
13
I|"|1j| secld |
{b] coseclB

fc) -sccl8”

jd] -cosecld”

as. 7 o M p MW wIEww ww F
u+ﬁ=§,?ﬁ{1+t&nu]l_1+tﬂnﬁjﬁﬁ?{

¥ e ¥
fa) ©
B 1
fc) 2
id) 3
36. {sinS5C°F -sin7(F +8inlCF) F AH
P &7
fa) 1

®)

ol

fie}

b

dp O

[P.T.O.




T fd)

ar.

cosA+cosB=m
sinA+sin B=n

where mon#0, then what is
sin[A + B) equal to?

mn =T h

m2 4+ p?

fa}

(e}

38. fy=sec?B+cos? @, where 0 <8 < g

then which one of the following is
correct?

faj y=0
(b} Dy=2
e yz2

{d) None of the above

39. If tanA=3/4 and ‘tanB=-12/5

then how many values can
cot{A - B) have depending on the
actual values of A and B?

faj 1
b 2
fc)

Lo

fa} <

P-PFFC-K-OC/25A
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. What is the value K §

sinl15sin75?

fal 174

B} 18

) 1716

fd) 1

41. What is the equation to the straight

line joining the origin to the point of

. intersection of the lines

faj x+y=0
B x+y+1=0
fe] x-y=0

fdl x+y+2=0

42, What is the equation to circle which

touches both the asxes and has
centre on the line x+y=47?

o) x%+y* -4x+4y44=0
B x?+y® ax-qysa=0
fef x2+y2+4xu4y—4=ﬂl

fd) %2 +y® +dx+dy-4=0
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ar. R 40. sinl% sin75° ®1 WA ¥4 87

cosA+cosBem

sinA+sinB=n fal 14
AEl m, ne0, W sinjA+B) R ¥ B 18
T §7
c) 1716
@ ——— ;
m?+n
fef 1
2mn
o m2 +n?
m? +n? X ¥
s B 41, gefeg | e =4 i
Xl Hitreda-
- n:n = 1% farmg @ e el
m+n

63 Tan = w0 R

=0
38. aft y=sec’B+cos? B, TE D:Eh:%, . Zx
At frefeftse # | S9-w w27 fh] x+y+l=0
fal w=0 fgf x-y=0
b} 0<y=2 (d) x+y+2=0
fe] wz2
(d) FoEw A | W A
42, T g0 W ofte w2, | 3 e w®
wd w §osh Bew W T
39, AR tanA =3 /4 ¥ tan B=-12/5, 7 xry=4 W
A ¥ B % amfis wet w smafa
¢Ut{A—B}ﬁﬁﬁﬁmﬁﬁiﬁﬂt? fa} x?+y? -4x+dy+4=0
L b x24y® -d4x-dy+4s0
) 2
e} x?+y? +ax—-4y-4=0
fe} 3
d 4 fd) x?+y® sdx+dy-4=0

P-PFC=K=-0OC[25A 15 |P.T. O.




43. If the position vector of a paint P with 46. The two planes ax+by+ez+d =10

respect to origin Ois i + 3] ~2k and and ax+by+cz+d, =0, where
that of a paint Qis 3{ + 7= 2K, then d# d;, have

what is the pesition vector of the

bisector of the angle POQ? fa} one peint anly in common

fa] i-j-k

fB) three points in common

fe} infinite points in common

fd] no points in common
fd] MNone of the above

44. If the straight lines x-2y=0 and 47, A point P moves such that the
kx+y=1 intersect at the point difference of its distances from two
(1. —1]. then what is the value of k7 given points (g 0) and (- 0) is

2 constant. What is the locus of the
point P?

faj 1 '
fol 152 {h} Ellipse
() -1/2

e}  Hyperbola

43. Let @, b and ¢ be the distinet non-
negative numbers. If the vectors (d] Parabola
al+ai+ek, L+, ef+cj+bk lie
on a plane, then which one of the ;
following is correct? 48. What is the distance of the origin
from the plane 2x +6y-3z+7=07
fal © is the arithmetic mean of

a and b
" : fa) 1
B} e is the peometric mean of
aand b B 2
fcg ¢ is the harmonic mean of 0 3
a and b
{d} eiz equal to zero fd} &

P-PFC-K-0C /254 16




43. of wefag o % Fi 4wk Tg P W

feufy wfem {4 3j-2k 3w g 0
w1 feufs wfem 3i+j-26 8 @ S
POQ ¥ Torss =1 firfa =it = 27
fa] i-j-k

B i+j-k

* g [+j+ER

() T H A W

4a. ot wg tEn x-2y=0 M ke ry=1

ﬁa[g%}mmﬁi,i‘. K =1 59 M
®i

fa) 1

2

e 172

fdl -172

45, qoEifm fF g b WK o B wOm

e ¥ af B ai+a) ek, 4K,

el defebk TH wEww W o@, @

ﬁnﬁﬁaﬁéﬂﬂ—mwuﬁ}?
fa) WA A ¥ o ST bW
b cTEiE M a i bE
(c} ceuwR oA § o s b

(d) comRTTIF ¥

P-PFC-K-0Cf25A

46, =1 FEEE

‘ax+by+ez+d=0
ax+by+tez+d =0

 welded,

fa) ﬁﬁaﬁrﬁﬁﬁzwﬁuf
b} ¥ firg avafim #

fe} A= frg v #

fd) ¥ forg s i @

47. v fog P e T I R R A R

gl mﬂ}ahi-c,ﬂ}ﬁmrﬁajaﬂ
W am o ¥ B pow fegme =
i

fa) 79
(b) g
fe) wfEem

{d) T

48. fefeg #, w0 2x+6y=-32+7=0

B, et gt 27
faj 1
fb) 2
f© 3

(dl 6

1P.T.O.




49. PQRS is a parallelogram, where
B b 4 e o
PQ=3i+2j-mk, PS={+3j+k
and the area of the parallelogram
is O0. What is the value of m?
fa) 1
=1
fe) 2

fd) -2

50. What iz the vector egually inclined
to the vectors { + 3] and 3{ + j?

rl'qj Ei—} -
b)) 2i-j
fc) 20+]

{d} MNone of the above

51. ABCD is a quadrilateral. Forces E

B ey i ;
CB, CD and DA act along its sides.
What is their resultant?

(a) 2CD
(k) 2DA
¢ 2BC
(d) 2CB

P-PFC-K-0OC/25A

.52. Under which of the following

conditions does a general second-
degree equation

ax? + 2hucy + by? +2gx+2fysc=0fa= Q)
represent a circle?
fef h=g a=h
{B)] h=g=f,a=h .
fct h=0,a=bh
fd h=0,g*+f2-c=asb
53. What is the arca of a triangle whose

vertices are at (3 =12), (L, -1-3)
and (4, - 3, 1)? -

J165
2

2

fa)

fel 4
id) 2

54. What is the value of b such that the
scalar product of the'vector { + j+ &k

with the unit vector parallel to the
sum of the vectors 2 +4j- 5k and

bi +2]+ 3K is unity?
fa) -2
-1
fe} ©

fdl T




49, PORS W wiem SgdE B,
PO =31 +2}-mk, PS={+3j+k
s marm wpdw W gmwa SO0 R
m T WF R

faj 1
b -1
el 2
gl -2
50. uﬁ!ﬁha}‘aﬂtﬁ;} & R Hien
=n 37
fa) i+]
(b 2i-]
e 20+]

(d) 7w A& =

1. ABCD UF wqi« 1 7@ AB, CH, CD
st DA 3wft st H fem ¥ Fw
£ g ofwmd F 37
fa) 2CD
) 2DA

) 2 BC

@ 2CB

P-PFC-K-OC/25A

gl

19

52, Trefafas whed § @ e = & W,
o =g T wiEm

ax? +2hay + by® +2gx +2fy+c=0la =0

o 7o frefm s 37
@ h=g a=b
) h=g=f, a=b
{ct h=0,a=b

{d) h=0 g% +f%-c=as+bh

53. T Bngw @ dmew wn B, Pk ofid
3-12),1-1-3)F M@ -3 =
LT

165

2

J135

2

faj

b}

fe) 4

d 2

54, bw oW e ¥ fFoaRw i+ 4K W
aftwl 2i+4j-5k M pi+2]+36 &
om % W gwR wiEm @, @kEm
PR OF R

faj =2
b} -1
fe) ©
fd) 1

[P.T.O




55. If the latus rectum of an ellipse is 58. ABC is a triangle in which. BC=

equal to hall its minor axis, then 10 em, CA=6cm and AH= & cm,
what is its eccentricity? Which one of the following is
- - correct?
@ 1 :
2 fa) ABCis an acute-angled tdangle

) 3 fb} ABC i3 an obtuse-angled
triangle
(c) ? fc) ABC is a right-angled triangle
-{-ri,l' Mone of the above
] i
fdl —

2 59, If the AM and OM between two
finmbers are in the ratio m: n, then
what iz the ratio between the tw

§6. IfA={2 3}, B= {4, 5, C= {5 6}, then * numbers? dhiacos
what ig the number of elements in
Ax(BnC)? - m+ym?2 - n?
2 F
(@) 2 m=ym* —-n
b 4 b m+n
m=nn
6.
ic) |"|:.‘J mi.n2
d 8 m? +n?
(d mi +n2. = fran
57. Wha.t is the Slﬁm 'Uf the line H"Iz +n_:2 +ﬂ'i|'l
perpendicular to the line
fhlg!:l? 2 60. Consider the function'f:R— {0 .1}
such. that
3 1 if x is rational
fe) 4 X ['D if x iz irrational
A Which one of the following is
fb) == correct?
4
fa} The function is one-one into
4
fel “3 = ; {b) The function is many-one into

% fg}  The function is one-one onto

fdj =

3 fd) The function is many-one onto

P-PFC-K-0OC /254 20




55, =% TF dEgn T AfGerE 6k o W
T T B, A T Iehe i

1
fa) E

&l

(b}

f

L3

oG

e}

&l

56. a2 A={2 3}, B={4, 5, C=1{5 &, 7
Ax([BnC)H wawat 61w w1 87

fal 2
fbi 4
fcb 6

fdy 8

57. zﬂmﬁmw%isﬂm%ﬁ;:;
& T, 87

@ 3

3
(b} “a

4
i<} “3

4
@ 3

P-PFC-K-0OCf25A
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s8. ABC U= = ¥, el BC= 10 "o e,
CA=6 %o Hlo 2K AB=8 He Hie)
Erafifir & & 9w ©s w0 27

fa) ABC T =i g 8
(b} ABC TS it wf g #
fc) ABC T wmiofia fe @
(d) vk i@ w

59, 7M1 B wEmail & Fwewm e i e
T mnFagm i E A RD
T % e s w87

ma+ym? —n®

(o) —————
m-vm? —n?

&)

] =S—s

@ TR

60, HE f: R+ {0 1} W few Fifim, @
i fi

1 & s ai B
“""{a ot x st &

fffiza # # #3-w o w9 27
faj o A S R
(b) TR FE-TE e
fcj FER TR o
(d} FeE HE-uE el

[P.T.O.




61. If flx)=2x+7 and glx)=x2+7

xe R, then what are the wvalues
of x for which f .« gix) =257

fal -1 1
b -2 2
fe) =%, J2

fd) Nome of the abave

62. What does the differential equation

y% +x=k (k iz any constant)

represent?

fal A family of circles having
centre on the yaxis

B} A family of circles having
centre on the x-axis

fe! A family of circles touching the
x-axis

{d} A family of ellipses

P-FFC-K-OC/25A
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63. What is the ares of the region
bounded by the curve

2
fix) = 1—55.. ze|-2 2

and the x-axis?

(@l 83 square units
b 4)3 square units
fc) 2/3 square umit

{d} 1/3 square unit

64. What is

a” - h*

=41 X

egual to?

fa) In{ab}

lna
fb) T

o )

w o2




61, TR g =2x+7 M glx) = %% +7,
xER,?hx%ﬂﬂﬁ-ﬁm%ﬁﬁiﬁﬂ
Fogla)=25¢ o

faf -1, 1
b -2 2
fe) =42, 2

fd) ITfw A A #d

62. sEF y%l-xmk (k
3 ) wn Trelta won &7

fa] T g9-FA T B y—liﬂaﬁﬂlﬁ
(b) O g fah - TR

) x-¥5 F WH W@ FI T
Ta-F

() T -

P-PFC-K-0C[25A 23

63. IF
) x'l o
fR=1-%- xel-22)

st o % 3 ofEE g W dvE
1 &Y )

(a) 8/3 7 H
b 4/3 % gmi

fc) 2/3 iR

) 173 91 =

fa) Infab)

Ina
. Inb

fb}

o o)

b
d) Inl—|
% n{a.l

v |B.T. O




65. If Jx+ /y=2 then what is % at
y=1 equal to?
fa) S
fb) 2
fc) 4

fd} -1

66. For a point of inflection of y= f(x),
which one of the following is
cOrTect?

dy
— must be
fa) Zera

2
) 51'-22 must be zergp
dx

0 W

-~ must be non-zero
dx

d*y
fl) b must be non-gero

67, If the function

fix) = "':'2]. x#42
X

is continuous at x =2, then what
is f[2) equal to? 2

fa) ©
b} 12

fet 1

{d 2

P-PFC-K-OC/25A

68. Ifx =cos(2f) and y=sin? ¢, thén what

2
ia g;g equal to?

faj O
{bl  sinf2e)
fe}  ~cos{2y)

(d) -1/2

69. What is the value of p for which the
function

Sflx)= peinx + Bk e

n
has an extremum at x = 3?

faj O
B 1
fel =1

d 2

T0. What is the value of the integral

_[_'ltxux?

fal 1
fb) 0

fdt -1




65. R Jx+ [ y=2 @ y=1m -j—iiﬁr'm
BT
faj 3
B 2
fe) 4

fd) -1

66. y=fix) & A ﬁhaﬁa_fai‘;ﬁi G
frafirfaa & 4 F9-m o Wi 27

) 9y '
f dxaﬁ?ﬂﬁ‘%ﬁf%

) d%y '
2 TaRh

o) :
() 2 w1 e 2

() d?y
E.mﬁﬁm%

67, T WA f{x;:ﬂ’g:ﬂ, %3, x=2
X< =4

T Faa 2, A FR) B S e
fa) ©

B 12

fab 1

{d 2

P-PFC-K-OC/28A 25

: 2
68, afd x =cos(2) 3 y=sin?, @ E—E
B, T

) H arm R gt
@ o

) sini26

@ -cos2q

fd). -1/2

69. p W w0 °F ¢, fws fom v

flx= ‘n:lusirn.’r+f-1r?aﬁ

x:.% W, U WA TE BT

(@) ©
B} 1
fe) =1

@ 2

70. T EJ"H’: o1 Wi T B

@ 1
B 0
fe} 2

fd) -1

[P.T.O.




71.. What is the differential equation to
family of parabolas having their
vertices at the origin and foci on the
x-axig?
fa) y=2xy
b x=2yy
feo} xy=y

d] x=yy

T2, At how many peints iz the function
Jlx) = [x] discontinuous?.

(a) 1
) 2
fe) 3

{d) Infinite

T3. What is

I e*(l+x) di
cos? (xe )

equal to?

fa) xe* +e

b} cos{xe*)+e

fc] tan{xe®)+c

(d) xcosec(xe®)+e

"

where ¢ is a constant of
integration. :

P-PFC-K-0C /2BA

T4. If at any instant ¢, far a sphere, r
denotes the radius, S denotes the
surface area and V denotes the

volume, then what is %:-’ equal to?

ia) 53“
1
L
fel r—

fel}

78. If
2..3
= o, B
.ﬂfc]l e

then what is f'i[x} equal to?

@ Sx+2
(b} %x-é
" 3t
26 G B




71. TH WEEE-FE T A WA L,
o ol seifing o ¥ ofvt il x-w
a #7

faj y=2xy
b x=2yy'
fc) xy=y

fdl x=uy

72, FEA flx) = [x) R e o 27
fa) 1
b 2
el 3

(d) =

LN ey & e B

T3.
jmszim"l

X

fal xe*+c

(k)

cos{xe®}+¢
gl tan[xe®)+e
{'dJ,

xcosec(xe®) +c

Tl o UF HOTEEE-ATET B

P-PFC-K-0C[25A 27

74, uft R g ¢ w, Bl i F e, e
i = ¢ oanferm, § g b
g ke 3l v gim w § e,
aﬁ%’ﬁwﬁmﬂ

@ 5
b} —r
fe) r—

@ 3

75. Ifi
flx) = %x+%, xe R
A e & w27

3 2

=K =

Fﬂlz 3

[P.T. O,




T6. What is the interval over which the 79. What iz the general solution of
functi = 6x - x? i
unctiom  flx)=6x-x*, x>0 is {1+ e%)ydy = e*dx ?

inoreasing?

2 =] 2o X 1 2
fa) (0, 3) fa} y* =In[c(e” +1)%]
b (3, 6) (b} y=Injele® + 1)

{'E.II {5. 9 fie yz =I!"I|E[d'x + I]i

{d) MNone of the above
{d] MNone of the above

where ¢ i3 & constant of
T7. What is I-JEEEIS{’C equal to? integration,
fa) 2e¥%(x-2J% +2 + ¢
80. What is the value of
II‘IF"J elx

L
%/6 sinxcosx

f} ‘2&"’;[::4-24.-'?“;:4-.:

3
) 2% (xe2fz-2+e o
(b) Iny3
J=
d) 2e =2Jx =2+
@ =2z -J+e e} 2In3
where ¢ {5 a constant of (d) 4In3
integration.
8lL. If f and g are two increasing
78. What is the degree of the differential functions such that f » g is defined,
equation then which one of the following is
correct?
dyyt (a2
[ +—'y] = __;.r 7 fal feogis always an increasing
dx ox function
fa) 1 ib] feg is always a decreasing
function
B 2
e} f g is neither an increasing
fc) 4 nor a decreasing function
fd) & {d] MNone of the above

P-PFC-K-OC/25A 2B
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76. 0 sFUE W W f(x] = 6x-x2,
x > 0 Ay 27 .

fa} (0, 3)

) (3. 8)
fc) (6, 9)

(et} mﬂ?ﬁﬂ:ﬂaﬁhﬂ

77, [7 e o fot & e 47
fa) 207 (x-2J% +Y4e
® 2eFxr2fx + 7 +e
fic) 2&"';{,:+2-.I"E—E}+c

{d) 2e%(x ~2J% -2 2e

T ¢ TF WA - &

T8. 3EFEA WHEEm []+%]4 =[ﬂ]2 3]

2
HrE #4317 ) . x

fa} 1
i 2
el 4

fd} &

P-PFC-K-OC/25A
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79. (1+e*)ydy = e*dx F1 HTTE B9 T BT
fal y* =In[c?(e” + 112-}
) y=lnfefe® + 1}
fe) y* =infele® +1)]

(d) 3w F 8 F§ 2

w8l ¢ U5 AaEeH- A= 2

T

ml4 dx

= wuW W R
/% sinxcosx

_80.

fa) 2ln3
b nJ3
) 23 ,

{d} 4In3

81 R fali g R v wem E, W AR &
fog dhnfim B, @ Foafefas & @
FH-T1 TF T A7 ;

- fa) feg ﬁmwa&;mmt
{B) feg THM UF EEAT TeE B

fgf feg 78 wdmE i 3 # gwEE
A B

fd) T A & w7l

[P.T.O.




82. What iz the value of
fe”[—i-d-l—?]dx >
X x
e
LY
fe) E(z ]
(k) efe-1)

fe) e-=
fdj ©

83. Which one of the following is the
differential equation to family of
circles having centre at the origin?

(a) lxz—y’}%ﬂxy
) (s =2y
0 Lepxey?)
fd] xdx+ydy=0

84. What iz the area under the curve
fix)=xe® above the x-axiz and
between the lines x=0and x=17

fal 1/2 sguare unit
I|"_I:-j 1 square unit
fo} 372 square units

{d] 2 square units .

P-FFC-K-OC/25A

85. What does the solution of the
differential equation
dyy

e
Ay 2

represent?

{a) Family of straight lines
through the origin .

bl Family of circles with their
centres at the origin

{c] Family of parabolas with their
vertices at the origin

{d) Family of straight lines having

slope 1 and not passing
through the origin

B6. What is the coeificient of %'7 in the
expansion of

5]
6

{a) 189/8

b} 567/2

fc) 21716

{d} Mone of the above

87. What is the derivative of sin? x with
respect to cos? x 7

faj tan® x
bl cot? x
fg) =1

fd) 1




&
@ «[5-1)
B ele-1)
) e-=
) o
83. Fefeis 4 @ 2h-a o, g w s
I TU-Fe T FAAE w47
Y B
fal (= y]dx 2xy
2, 259 _ g
B {x y}dx xy
0 E=pay?)
{d) xdx+ydy=0
B4. TF flx) = xe* % Iwln, WG F FH@

st x=0 W x=1% d= W
S Frm 27

fa) 1/2 o wrd
o) 1 = g
@ 3/2 =i @

() 2= g

P-PFC-K-OCf25A

85, aa?am atw x%:_g O W
fFrefim o 87
fa) e B T e o -
(b) TR T AR A g
fe ey v i A g

fd) WU 1 N W g W
Rt @ 6 g

86. [ax—fﬁi]g 3 s 07 1 i
¥
fa) 189/8
(b) S67/2
(e) 21/16

(d) w2

B7. cos? x ¥ W9 sin? x W sEEEw =W

#?

fa} tan? x

) cot*x - ¢
fel -1

id) 1

[P.T.O.




88. Consider the following statements :

1. _ﬂx}=|x~3f is continuous at
x=10

2. filx)=]x - 3|is differentiable at
x =0

Which of the statements given
above isfare correct?

{o} 1 only
) 2 only
{c) Both 1 and 2

{d} Meither 1 nor 2

89. What is (1111), +(1001), -{1010],
equal to?
fa) {111);
) (1100],

(¢ {1110},

(d} (1010},

ginf+1
[ =

80, What is qual to?

sin® +cosf -1
fa) sinf +cosf+ ]
sinB+cosb+ 1
sin® +cosfB -1

)

sin@ +cosf + 1

ic)

ginf -cosd + 1
sin® +cosh -1

(@)

P-FFC-K-OC/25A

91. From the top of a lighthouse 120 m
above the sea, the angle Bof
depression of a boat is 15°. What is
the distance of the boat from the
lighthouse?

{a} 400 m
{b) 421 m
fe] @44 m
fdj 460 m

92, What is the value of

sinf +cosf = tan g
sech +cosech —coth

whnn'E=E£?
4

fa) 0
m) 1
el -1

{d] None of the above

93. What is the value of sin 292%‘?

3 &
fa) % 2+43

) -32-5
@ V242

) _% iz




g8, Frefafima sl o fimm 6ifem
. flxl=1x-3| x =0 a5 &

2. flxi=lx-3|, =0T IFGFeHT
1.4

el ol § B S-m/R wh R
fa) @ 1

fb) o 2

fej 1 3w 2 2t

fd) A rafmad 2

89, (1111), +(1001), -(1010), FRd

=T 17

faj [111)4
b} (1100},
fal [1110)4

fd} {1010},

90. N8+l o e i

cosi

sinf+cost-1
sind +cosd + 1

fa)

sinB+cosd+ 1
sinf+cosf-1

{b)

ginf -cosf =1
sinf +cost+ 1

fel

sinf =cosd+ 1
sinf +cosf=1

{d)

P-PFC-K-OC f28A a3

91. HE 79 A 120 e IW % AEEEE &
W W wE A W gEAER w150 #
agZRaE B e 1 gh fee 37

fa} 400 He
B 421 e
fe) 444 Mo

fd) 460 o

a2, E’Iﬂﬂn%,?ﬁ

ginf +cosd - tand
sech +cosect — coth

1 W ¥ R7

fa) ©

@) 1

fe) =1

(dj TwE A & w7

93. sin202L1° ® HF ¥ g7

) V2473
) -52-T5
@ 22+2
@ -3NE+E

[P.T. 0.




94. What is Js&c“ xtanxdx equal to?

sec” x
e
n

e

fB) ————te

n=-1

tan™ x
o} =——ice

n=1
P LT, ERPY
n-1

where ¢ is8 a constant of

integration.

95. What is the area bounded by the

curve y=x? and the line y=167
@ 32/3
(b} &4/3
6] 256/3

d) 1283

96. What iz the number of terms in the

expansion of [a+b+¢)", ne N?
faj n+l
{h) me?

(e} min+1)

fd) (m+1)n+2) /2

P-FFC-K-OCf25A

a7.

98.

99,

What is the number of signals that
can be sent by © flags of different
colours taldng one or more at a
time?
faj 21
fbi 63
fel  T20
fd] 1958

In how many ways can a committee
consisting of 3 men and 2 women
be formed from 7 men and
3 women?
fa] 45
fb} 350
fe}  TOO

fd) 4200

i
a=i-k
- - - -
b=xi+j+(l-xk
€=yl 4+ {1+ x -yl

then 3-15 ME‘] depends on

faj x only

fb) g only

fc! both x and y

fd] neither x nor y




94, jsec“xtgnxdxmaimﬂ o7, fafim ol & 6 wwal gm, oFa d o W
: mﬂaaﬁmmaﬂﬁﬁﬂ
() aec"x_'_e : preme i B
n
21
gec™ ! x ™
it v v ) 63
T e a @ 70
mn
{d] 1956
id) lan“':x_'_e
W n=- 4

95.?3&&’!#5ahtiﬁﬁé3wam

Wl ¢ U HEe- ot B 2 sht # fw ww wfify B e @

i w1 T 3
95. mF y=x? 3 W y=16 T TR e
fa) 32/3 7 e} TOO
by 64/3 fdj 4200
(e} 256/3
fd) " 128/3 99, IR o
_ a=i-k
. . b=+ f4(l-x)k
. Tyl b e(l+x- Yk
96, ja+b+e)®, ne N % wm # o H v - SEIREA IR
T = b7 : S ME- b w2 wiE B
fal n+l fa) *aw x™
fb) n+2 : (b) ¥EE yw
fe} nin+l} - fo) x¥yIAIW

fd} {n+1)n+2) /2

P-FFC-K~-0OC /254
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(e} AWM xTWA Yo
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100. What is the probability of having
53 Sundays or 53 Mondays in a
leap year? g

fap 247
(b} 3/7
fel 47
fdl 5.7

101, Three digital numbers are formed
using th.e_digits 0, 2, 4, 6, 8.
A number is chosen at random out
of these numbers. What is the

probability that the number has the
same digits?

fal 116
) 1/25 .

fc) 16425

fdl 1/645

102. What is the mean deviation of the
data 2, 9, 9, 3, 6,9, 47

fa) 223
fbj 257
fc) 323

fd) 357

P-PFC-K-OC/25A

103. A set of n values Xy, Xg,.., Xy has

standard deviation o. What is the
standard deviation of n wvalues
X 4k 2o 4k xg £K7

faj o

B a+k

fc) o-k '

(d) ko

104. The two lines of regression are

8x~10y=66 and 40x-18y=214,
Rﬂ'd. variance of x series iz 9.
What is the standard deviation of
Y series?

fa) 3 Sl
B 4
fgl &

{d &

105. The standard deviaton of some

consecutive integers is found to
be 2. Which of the following
statements best describes  the
nature of the consecutive integers?

fa] The intepers are any set of
eight consecutive integers

{B) The integers are any set of
eight consecutive positive
integers

fe} The integers are any set of
seven consccutive integers

{d) Nene of the above,




_ ; . I

100. & fimd (leap year) & 53 Eml m 103, n Rl xj, X, .., X, F UH! HHEE

53 dhan % B %t mieem = 27 F WS ﬁﬂ?ﬂ?{ a ¥ na el
xy vk 2y vk, X, Hk F 2 T
fa) 2/7 i o A
by 3f7 p fa o .
(e 4/7 ) otk
el o-k
i) 5/7
@ ko

101. 3= 0, 2, 4, 6, 8 W IWEM =] A 104, 2 wmsm tEn ¥ Bx-10y= 66 s

st gt =3 A §1 = dmmed § 40x - 18y =214 x Al = wEm
A gl s men of = B o 0 21 y At 1 T R w0 47
e § @ @ & g % mmm e -
#7 fa) 3
fb) 4
faj 1/16
fEJ & ) £
b} 1/25 w 8
fel 16/25
(d) 1/645 - 108, F¢ FWT quiE # was feew 2w
E ’ arn # Prafafis o6 4 @ FE-m
FATE I % TN W AEE I
# At W §7
maﬁﬁﬁﬂggaﬁg-;mmm ; s :
! R _ e it E R o S e
T W
fa] 2:23 (b) ol & faelt ot ama s
‘ﬁﬂﬂﬂﬁrﬁﬂﬁﬂﬂ
b} 257
fe) mﬁmmmmw
@ 323 o T
f{dl 357 fc) I & & o A

P-PFC-K~OCf25A a7 3 1 [P T.Qu




106. Consider the following data :

. Factory-A Factory-8
Mean wage of workers Ra 540 Ra 20
Stasdard deviation
of wipes Ry #4050 Rz 31

What is the uaﬁﬂbilit}r in the wages
of the workers in Factory-A 7

i} 1009 more than the variability
in the wages of the workers in
Factory-B .

fb)  50% more than the variability
in the wages of the workers in
Factory-8

e}  50% less than the variability in
the wages of the workers in
Factory-B

{d) 150% more than the variability

in the wages of the workers in
Factory-8

107, LetU={L2 3 .., 20} Let 4, B, Che

the subsets of UV, Let A be the set
of all numbers which are perfect
squares, Bbe the set of all numbers
which are multiples of 5 and C be
the set of all numbers which are
divisible by 2 and 3.

» Consider the following statements :

1. A, B, Care mutually exclusive.
2. A, B Care mutually exhavstive.

3. The number of elements in the
complement setof Aw B is 12,

. Which of the statements given

abrove are correct?

fa) 1 and 2 only
M 1'and 3 only
fe) 2 and 3 only
{d) 1,2 and 3

P-FFC-K-QC/25A
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108, A lot of 4 white and 4 red balls is

randomly divided into two halves,
What is the probability that there
will be 2 red and 2 white balls in
each haif ?

fa) 18/35

(bl 3/35

fe) 172

{d} Mone of the above

109. The distributions X and ¥ with total

number of observations 36 and 64,
3hd'mgnn 4 and 3 respectively are
combined. What is the mean of the
resulting distribution X +Y 7

fal 326

b} 332

¢} 336

{d 342

110. Consider the foliowing data :

x|5(7(|8|4]s
vli2[a|alala

What is the regression eguation of
yon x?

o) y=0-6+0-4x
B} y=0-7+0-3x
el y-ﬁ{-Sx

fd) y=4+%9x




106, Frefafiss stiwsl w fmm fifem

F-A, | B
gt ) e wglt | 540 %0 620 %o
gt W W R | 4050 %0 | 31 %

- A § w0 vl & giEdiem
7 87

o) We-p § wegd # wegh @
TitadEltea #1000 =

(o) WFY-B # magh i wmh d
afrasier # 50%

o) W-B % wag B wmh #
ofEdefiear @ s0% =H

() %Ei-p & megl & wgh #
aftad-licn @ 150% v

107. A Hfmw U= {1 2 3., 20} TR T
A, B, ¢ Tvag=m § U om Hifan 4
7 Wt weenail = wger ¥ & gl W E,
B = wfl ol = wgeE 2 5 F
T § e ¢ @ wit densdt w1 e
29t 2 ol 3 @ favin §)
Frfeftm st ot R fifm .
1. A, B ¢ wem amaEfi §
2. A, B, ¢ wen freims §1

3, Auﬁﬂaﬁaﬁqﬁmﬂﬁ
w12 ¥

Fwl w8 wd §7
fa) @ 1 ¥R2
(b} Few 1 ol 3
fo) Hawm 2ol g
fdf 1,233

P-FFC-K-OC/25A a9

108, 4 T2 3 4 wa W@ F o 9 fw

# grferma: fwnfim e a0 @
awd % 2 v v 2 wike T g, e
it w47

jal 18/35

i) 3/35

fef 12

(d) 7w # & 7

109, faam x 3l v, fmd 52 Jaut & dom

wAN: 36 o 64 TN A 4 afr 3
fiyen fomy s &1 oot fimem X+ v

| g

fa) 326
b 322
fe) 336

fdf 342

110.-ﬁmﬁimaaa1‘ms"rﬂfﬁamﬁ&q:

x | 85| 7| 8 | 4] 6
A HAEAEEE R

T g I T Tt g
fa) y=0-6+0-94x

B y=0-74+0 3x

fe] y=6+5x

fd] y=4+9x

[P.T.O.




111. What is the value of

lim cosfax] - cos{bx) ™
=0 x2 ’

fa} a-b
{b] a+b

b? - a®
g —2
/ 2z
B? +g?
(et} 5
For the next three (3] itemns which follow :

The frequency distribution of life of 00 TV
tubes whose median life is 17 months is as

follows :
Life af TV tubes | No. of TV tubes
fin meonths)
- -5 3
=10 12
10-15 x
15-20 35
20-25 b
2500 | 4

112. What is the lower limit of the median
class?

@} 10
(b} 15

e 20

{d} 25

P-FFC-K-OCf25A

113. What is the missing frequency y?
fa) 20
b} 16
fe} 15
jd 12
114. Wha‘;t is ﬂ;lt! cumulative frequency of
the modal class?
fa) 31
(B} 35
{c) 66

{d} Cannot be determined as the
given data is insufficient

1185, If the area of a triangle with vertices
(=3, 0), (4 0} and (O k) is 9 square
units, then what is the value of k ?

fa} 3
k) &
L

fd) 12




111, fi Soslax) —cosibal o oo ey 4 113, UM SREE y F

=0 x?
fa) 20
fa) a=-b
fb) 16
bl a+b
b?_az fo) 15
fel 5
d 12
b2 +a?
LRSS

114, sgas @ i gedl IO # 87
Frrmedl #i (3) T & fr

90 He e zgat A, B g I 17 WA R, faj 31
g A e e e g
fbj 35
#Ho dte =gt 1 awrg | Ho e zyEt Fr
(et #) e (e} 66
0-5 a : _ ;
5-10 12 () el 7 T, @R B o
10-15 x fFm wvalin &
15-20 35
20-25 y
25-30 4

115. w&ﬁ?ﬁlﬁgaa;:a}aw frmd hd
3.0} (30) 3 (0 k) W E 9 Wi

m mﬁﬁwaﬁﬁﬁmmmﬁ wd B, @k R
fa) 10 fa) 3
(b) 15 ®) 6
fe] 20 fc] 9 =
@ 25 - @ 12

P-FFC-K-QC/2BA *41 | P T. .




116. Consider the following statements :

If A and B are independent events,
then

1. Aand B are independent
2. A and B are independent

3. A and B arc independent

Which of the above statements
isfare correct?

fa} 3 only
{b} 1 and 2 only
fel 1, 2 and 3

fd} Nene of the statements 1, 2
- and 3 is correct

117. If x=kif+sinf) and gy = k{l+cosf),

then what is the derivative of y
with respect to x at 9 =mn /27

fa) -1
fb) ©
fel 1

fd} 2

P-PFC-K-OC/25A

What is the value of

14i2 4% 40 4 .. 4000
where i=+-17

fa) O

fbj 1

e -1

{df Nome of the above

119, What iz the value of

1w 2w
2 2w 4w’
3 3wt et

where w is the cube root of unity?

fa] Q
b1
fe) 2

fd] '3

120. If the cardinality of & set A is 4 and
-that of a set Bis 3, then what is the

cardinality of the set AAB?
@ 1
fb) 5
fel 7

fd} Cannot be determined as the
sets A and B are not given



https://www.sarkariresults.io/

116, Fefoflen = w fen fifw .
aft 4 ¥R B v v, o
1. AR EBw@Est
2, A e
3. AsmEwEEd
I wat @ A/ T Y/E
fa) Bae 3
jb) Ew 1 MW 2

jo 1, 233

() w1, 2 3R 3F A wd wh
4

© 117, T x = kg +sing) 3y = k(1 +cosh),
MO=n/2 T x & AUE y T HAGhEea
w87

faj -1
& 0
e 1

[dy 2

P-PFC-E-OC/f25A

43

118, 1+i2+i" +i% - +i'°" v 0w w0 &,

- 119,

sl i=m o1

fa) O

) 1

el -1

(d) ¥R AR AN A

1 w 2m?
2 ow® du’
3 3w &t

1 T #F

F1 0 9, I w0 T

fat O
) 1
fe] 2

fd) 3

120. 3R #g=4 A F| TE-FEN (cardinality)

4 % st wgemg gt 3 %, @ TgEm
AA BH Tem-wem b

fa) 1

) 5

() 7

(@) W P wedt, FAR @
A ¥l g fag o &

| P.T. O.




W T AE U wien gften e w9 s 9w as 3w

&t &t Ht. : P-PFC-K-0C

T T

Ty : w5 a3 oty e

witeror it srgEm

129477 A
Tdteror giaent
e

quIts : 300

@y

1. witen wwEd B0 & e W, 3 3a whem gfem 6 veae s S e = G oom, v
TR GAT YE SE Wy A A R uid dew R, 6 9@ wd ofiew gfevm @ wmm i

2. IW-TEF ¥ W T w aitywn g sgwe A, B, C© W D vt vre v @ geag S0

3. wa v qftem w oww d By ow wew § s s
s fo & whem qftvE W ooin g 3 fed)

4. ™ <hem g § 120 wwin (ww) o B o v Rt 3l it o &) weE w4 =w
wrget (3 faw i B) ol @ o g @ A, B s Tevs W s wen e §1 O st G
alt f5 v @ ol gl B, e g ) siftm ) aneEt s wh wERe wEin o R da
ww § v b

8, WTH ¥ o wgw s @ B e owwewE W @ il w9 O Im-Te A R o R M

6, @it vl &% ofF wm

7. o R B aw ohem gt ¥ Bfim oeit F oem ovemE w s e gE A, o v
wam-a1 % are Wfim agiel % agun v REm s @ 8§

B, W w1 o T W oIw-awE § e § aw aw v % were W e am-ues sfles w odk 3
e wed W Thew IR @ W R e b

9. ¥= wA F o veF wiem yfRw & e 3 gem §)

10, T I & fm geE .

mﬁsm-ﬁﬁmﬂﬁnmﬁﬁﬂqmm*hmﬁmml
(i) weiek 7 % fore = 3 T §) Iofiem T vl e F fo fon o e e e & B wm i
fram forn g o w1 r=-fed (0-33) 392 & w0 # =@ 5om

{i) of = Iefean ow & afies T 3 R, A 9@ e I T e, Ti o aw  d e o
gm &, e ft T8 v % B s @ 3 mw = o B s

{iii) =R sefiam g o v va o Ben v o fmm s T sl R st T m R S B

wi§ v ot R wmem)

mmmﬁﬂﬁwgﬁmmaﬁwmmﬁﬁr@ﬂﬁ

Note : English version of the instructions is printed on the front cover of this Booklet.
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